balansmethode opgaven

1. Los de volgende vergelijkingen op:

A 3x+7=28 F. 2x-8=20

B. 4x+9 =53 G. 3x-7=41

C. 2x+3=11 H 12-4x=2

D. 5+4x =39 I.5-8x=-11

E. 12+3x=15 J. 100-9x =1

2. Los de volgende vergelijkingen op:

A. bx+3=2x+ 30 F. 8x-9=4x-5
B. 4x+10=2x+2 G. 2x+1=10x-7
C. 6x-7=x+8 H 3x-8=x+7
D. 3x+20=8x-5 I. x=5x-4

E. 7x+19=2x+ 29 J. 6x+6=8x+8
3. Los de volgende vergelijkingen op:

A Bx+2=-x+32 F. -7x-10=5x - 46
B. -2x+10=3x-25 G. 12+3x=-x-8
C. -3x+6=3x-6 H. 6 =-2x+20

D. -8x-20=2x+5 I. -3x-3=6x+6
E. Bx-8=-3x+24 J. -6x+100 = 3x + 28

4. Los de volgende vergelijkingen op:

A -2x+7=-bx+13 F. -12x + 82 = -6x - 2
B. -bx -3 =-10x + 27 6. -3x-3=-6x-6
C. 4x+8=-2x+1 H. -x+3=-8x+24
D. -3x+10=-x-8 I. 5x-1=-7x+1
E. -Bbx-2=-3x+2 J. -7x+12=-13x+12



5. Los de volgende vergelijkingen op:

A. 7x+3=4x+15 F. 7Th-12=h+ 36
B. 5a+9=8a+3 6. 92+13=7z-15
C. 6p+2=4p+17 H. -8d+7=2d+47
D. 4m-8=2m+ 4 I. 6w-7=4w-21
E. 3g+3=8q-22 J. 12 + 2k = -bk - 23

6 . Los de volgende vergelijkingen op:

A. 8x+13=3x+ 33 F. 9h-14=2h+ 35
B. 4a+13=7a+3 G. 11z+23=5z-37
C. 7p+7=5p+19 H. -8d+9=3d+42
D. 3m-7=m+13 I 9w-31=6w-18
E. Bg+6=9q - 32 J. 5+4k=-5k- 67
7. Los de volgende vergelijkingen op:

A. 8x-43=3x-25 F. 2h-10=16 - 3h
B. 4a+19=7a-14 6. -2z+17=-4z-15
C. -5p-12=p+15 H. -bd+32=3d-32
D. 27 -4m=2m + 3 I 12-w=5w+12
E. 6g+2=-2q- 26 J. 31+-4k=-7k - 23

8 . Los de volgende vergelijkingen op:

A. 6x-37=4x-24 F. Bh - 30 = 46 - bh
B. 14a+ 67 =9a - 13 6. -3z+26=-6z-16
C. -6p-17=p+18 H. -7d+42 =8d - 33
D. 45-9m=4m+6 I. 19-w=3w+4l
E. J.

8q+5=-4q - 25 19 + -9k = -6k - 32



9. Los de volgende vergelijkingen op:

-3(h - 21/3) = 4(3!/2 - h)
5-4z2+17=-3z-15+2

. B(7-m)=2(m+7)

1412 - w) = 23/4w + 12
3(k-3)-5(k-4)=4(k-1)

1/?_X -4 = 1/4X+ 12
2(a+3)=5a-5

22/3p -1/3 = 31/3p +1
3(2d+4)=2(d-6)+6
3(q+2)-4q=q- 6
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10 Los de volgende vergelijkingen op:

A. 7(@+5)=4a-7 F. Y/3sx-5=3/4x+15

B. -4(h - 2%/4) =512 - h) G. 13-52+21=-82-42+2
C. 1%/3p-3%/3=4"/3p + 3 H. 5(3d+7)=4(d-9)+5

D. 9(5-m)=5(m+2) I. /5015 - w) = 2Y/sw + 27

E. 4(k-6)-6(k-3)=3(k-4) J. 7(q+3)-59q=q-9



antwoorden opgaven balansmethode

1.

A 3x+7=28
3x=21

x=7

B. 4x+9=53
4x = 44
x=11

C. 2x+3=11
2x=8

x=4

D. 5+4x =39
4x = 34
x=85

E. 12+3x=15
3x=3

x=1

A. Bx+3=2x+30
3x+3=30

3x =27

x=9

B. 4x+10=2x+2
2x+10=2

2x = -8

X =-4

C. 6x-7=x+8
bx-7=8

bx =15

x=3

D. 3x+20=8x-5
20=5x-5

bx =25

x=5

E. 7x+19=2x+ 29
bx +19 = 29

bx =10

x=2

F. 2x-8=20
2x =28
x=14

6. 3x-7=41
3x =48

x =16

H 12-4x=2
4x =10
x=25
I.5-8x=-11
8x =16
xX=2
J.100-9x =1
9% = 99
x=11

F. 8x-9=4x-5
4x-9=-b
4x = 4

x=1

6. 2x+1=10x-7
1=8x-7

8x=8

x=1

H 3x-8=x+7
2-8=7

2x =15

x=7b

I. x=5x-4
0=4x-4

4x =4

x=1

J. 6x+6=8x+8
6=2x+8
2x = -2

x=-1



A Bx+2=-x+32
6x+2=32

6x =30

x=5

B. -2x+10=3x-25
10=5x-25
bx = 35

x=7

C. -3x+6=3x-6
6=6x-6

6x=12

x=2

D. -8x-20=2x+5
-20=10x+5
10x = -25

x=-25

E. 5bx-8=-3x+ 24
8x-8:=24

8x = 32

x=4

A. -2x+7 =-bx+13
3x+7=13

3x=6

x=2

B. -bx - 3=-10x + 27
bx -3=27

3x =30

x=6

C. 4x+8=-2x+1
8=2x+1

2x=7

x=35

D. -3x+10=-x-8
10=2x-8

2x=18

x=9

E. -5x-2=-3x+2
2=2x+2

2x = -4

x=-2

F. -7x-10=5x - 46
-10=12x - 46
12x = 36

x=3

6. 12+3x=-x-8
12 +4x=-8
4x = -20

x=-H

H 6=-2x+20
2x+6 =20

2x = 14

x=7
I.-3x-3=6x+6
-3=9x+6

9% = -9

x=-1

J. -6x +100 = 3x + 28
100 = 9x + 28

9% =72

x=8

F. -12x + 82 = -6x -2
82=6x-2

6x = 84

x=14

6. -3x-3=-6x-6
3x-3=-6

3x=-3

x=-1

H. -x+3=-8x+24
7x+3=24

7x =21

x=3

I Bx-1=-7x+1
2x-1=1

2x =2

x=1

J. -7x+12=-13x+ 12
bx+12=12

6x=0

x=0



A 7x+3=4x+15
3x+3=15
3x=12

x=4

B. 5a+9=8a+ 3
9=3a+3

6 =3a

a=2

C. 6p+2=4p+17
2p+2=17
2p=15

p=75

D. 4m-8=2m+ 4
2m-8:=4

2m =12

m=6

E. 3g+3=8q-22
3=5Hq-22

25 =5q

q=5

6.

A. 8x+13=3x+33
bx +13 =33
bx = 20

x=4

B. 4a+13=7a+3
13=3a+3
10 = 3a

0331/3

C. 7p+7=5p+19
2p+7=19
2p=12

p=6

D. 3Im-7=m+13
2m-7=13

2m =20

m =10

E. 5q+6=9q- 32
6=4q-32

38 =4q

q=95

F. 7h-12=h+ 36
6h -12 = 36
6h = 48

h=8

6. 9z+13=7z-15
2z+13=-15

2z =-28

z=-14

H. -8d+7=2d+47
7 =10d + 47
-40 = 10d

d=-4

I 6w-7=4w-21
2w -7 =-21
2w = -14

w=-7

J. 12+ 2k=-bk - 23
12 + 7k = -23
7k = -35

k=-5

F. 9h-14=2h+ 35
7h-14=35
7h = 49

h=7

6. 11z+23=5z-37
6z+23=-37

6z =-60

z=-10

H. -8d+9=3d+42
9=-11d+42
-33=11d

d=-3
I.Ow-31=6w-18
3w-31=-18
3w=13

C|=41/3

J. 5+4k=-5k-67
5+9k=-67

9k =-72

k=-8



7.

A. 8x-43=3x-25
bx - 43 = -25

bx =18

Xx=36

B. 4a+19=7a-14
19=3a-14
33=3a

a=11

C. -bp-12=p+15
-12=6p+15

p=-45

D. 27-4m=2m+ 3
27 =6m+3
24 = 6m

m=4

E. 6g+2=-2q-26
8q+2=-26
8q=-28

q=-35

8.

A. 6x-37=4x-24
2x - 37 =-24

2x =13

XxX=6b

B. 14a+ 67 =9a-13
5a + 67 = -13

5a = -80

a=-16

C. 6p-17=p+18
-17=7p+18
-35=7p

p=-5

D. 45-9m=4m+6
45=13m+ 6
39=13m

m=3

E. 8g+5=-4q-25
12q+5=-25
12q = -30

q=-25

F. 2h-10=16 - 3h
bh-10=16

5h = 26

h=5,.2

6. -2z+17=-4z-15
2z+17=-15
2z=-32

z=-16

H. -bd+ 32 =3d- 32
32=8d-32

8d = 64

d=8
I.12-w=5bw+12
12 =6w+12

6w=0

w=0

J. 31+-4k=-7k-23
31+3k=-23
3k = -54

k=-18

F. Bh - 30 =46 - 5h
10h - 30 =46

10h =76

h=76

6. -3z+26=-6z-16
3z+26=-16
3z=-42

z=-14

H. -7d+42 =8d - 33
42 = 15d - 33
75 = 15d

d=5
I.19-w=3w+41
19 = 4w + 41
4w = -22

w=-55

J. 19+ -9k = -6k - 32
19=3k-32

51 =3k

k=17



9.

A. 1/2)(-4:1/4X"'12
2x-16=x+48
x-16 =48

x =64

B. 2(a+3)=5a-5
2a+6=5a-5
6=3a-5

11=3a

O=32/3

C. 2%/p-1/3=3Y5p+1
8p-1=10p+3
-1=2p+3

-4=2p

p=-2
D.3(2d+4)=2(d-6)+6
6d+12=2d-12+6
6d+12=2d-6

4d +12 = -6

4d = -18

d=-41/2

E. 3(q+2)-49=q-6
3q+6-49=q-6
q+6=q9-6
6=2q9-6

12=2q

q=6

F. -3(h-2Y/3)=4(3";2-h)
-3h+7 =14 - 4h
h+7=14

h=7

6. 5-4z+17=-3z-15+2z2
22-4z=-2z-15
22=2z-15

37 =2z

Z=181/2

H 5(7-m)=2(m+7)
35-bm=2m+ 14
35=7m+ 14

21=7m

m=3

I /412 -w)=23/w + 12
3-Yw=2%w+12

12 -w=11w + 48

12 = 12w + 48

-36 = 12w

w=-3

J. 3(k-3)-5(k-4)=4(k-1)

3k-9-5k+20=4k-4
-2k+11=4k -4
11=6k-4

15 = 6k

k=25



10.

A 7(a+5)=4a-7
7a+35=4a-7
3a+35=-7

3a=-42

a=-14

B. -4(h-2,75)=5(15-h)
-4h +11=75 - bh
-8h +22 =15 - 10h
2h+22=15

2h=-7

h=-35

C. 12/3p-32/3:41/3p+3
5p-11=13p+9
_11:8p+9

-20=8p

p=-25

D. 9(5-m)=5(m+2)
45 - 9m =5m + 10
45 = 14m + 10

35 = 14m

m=25

E. 4(k-6) - 6(k - 3) = 3(k - 4)

4k - 24 - 6k + 18 = 3k - 12
-2k -6=3k-12

-6 =5k - 12

6 = 5k

k:11/5

F. Y/sx-5=3/4x+15

4x - 60 =9x + 180

-60 = 5x + 180

-240 = bx

x = -48

6. 13-5z+21=-8z-42+z2
34-5z=-7z-42
34+2z=-42

2z=-76

z=-38

H. 5(3d+7)=4(d-9)+5
15d+35=4d-36+5
15d + 35 =4d - 31

11d + 35 = -31

11d = -66

d=-6

I '/5(15 - w) = 2Y/sw + 27
3-Ysw= 25w+ 27
15-w=11lw+ 135

15 =12w + 135
-120 = 12w

w=-10

J. 7(q+3)-5q:q_9
7q+21-5q:q-9
2q+21=q-9

q+21:_9

q=-30



